T 4
KA Y
BB TS S5 L

New
College English
Reading and Tests

RWE THEE  E®




37 48 K 22 36 D L 9 S A

BlEdm BT ERE KHH#
mEE A BRE HEE
X#eP FER MHT
YRRk BRI ZEEER

=& K ¥ H mrA




o
Yl 4t

E7ERR S B (CIP) Fi

BT FEE B BERRAR S W R, EFE LS . R
AR AR, 2007
ISBN 978 -7 - 81112 -399 -9

1. % -

I.Of% - @F - . %i§ - WiE#HEF -RE

¥K - B¥SE%R V. H319.4
oh [ R A B B4R CIP $UdB 4% 52 (2007 ) 55 122011 5

R AFEFRERAEES AR

. R FEFH ER

- —.—

HIERH
R
iz

]
g

mEEFLoHNEAH
S S¢S OME % R M

FRKF HE

B o
s mam -
TET '

787 x1092 1/16

14.125

269 T
ROIET RS A RAT
2007 E8 AE 1R

2007 4F 8 A% 1 YEIR
ISBN 978 -7 - 81112 -399 -9
20.00 It




,_

Tt

H

4 ok % 2 P o B A8 B 5 3K ) = DU E KR #2004 4 1
ABAHCAFEBRRERFER) A RE, “WERFF LN EHE
RN REFEXFUBRRIARE ERFEFHRTRTOES
B, EAFIBEMNBEHZET, AEEIAERSEERM, &
BARIFFERERINNER? ROAFFLERF RN, ERE
FEWHAREMED, RTEEERMAER GHEFTEAY, BLA
AT XY HE I A D) B IR, HAT L O P B AR U . R
R—FE,RNEF TRAS , RAREAR R FAEMEEELE
Ao

AHREWH F-BIARFHEBAE LR F -8
ANFERFEET , F-—HETEHARANEEE FR S 44
BERNGEI, FZWLAWBREXI0 B, XELBAERESLAE
WA, NERAY P& S REERAERE T R AT HEER
Wh, AT ARG AREWFESLR, B o4 T 01480 8 T 5 R i
HERBEEFeBEREN . FUBIANSELEE,

AFHRREAALERRA ERERNF AR ETEH
THATE AT, ARG S F LTS, ERARGFANELN
ERRES. MERMLAS KRG RAFE RN EEH T, M LA,
BTEAE. WABLINWREEXREFRESIE; WRER > H L2,
ERRHTERXENETEAR BL ETXHMAL FELRhEH W
BEAWEARBOT, A LB AR TREF LW RN R
R o

WTHEASR, # PRRENEL, BIE) KIEH T ETE ZH]IT
#Eo

% &
ZOO+k%#E/NA




Contents

Part I Testing Ski]ls( miﬁ}‘g‘ﬁj) ...................................

How to Use the SKills for Reading Tests

(U] R RIS TG ) cevvvevrrnnnenennnnnnnns wesssnsestreanes
Part I Reading Skills( [F{3£3575 )

How to Read a Passage ( UI{A] ] SRAG L) roeveverrvrrrrererennens

How to Guess the Word Meaning by the Context

CHIMTRRAE T SORGIRLIL ) <erererererereseremnencmnereneneens

How to Guess the Word Meaning by Word-building

CURART ) PR TRIEE TG IR] L) wvveererrerenrrnimnininininn,

How to Read for the Main Idea

CHVATB S S B FRUL EAR) veevermeeresneeienesnenenes

How to Recognize Important Facts or Details

(AT IR BRI STER AT ) -vvveeerrereeernnneemsnneen,
How to Find the Topic Sentence ( {l{a[#fi g FRHH]) +ovveeee

How to Make Inferences and Judgements While Reading

(U MBS S SR AT HEFEFNBMT ) - oevvevevmremmermneennne

How to Draw Conclusions While Reading

(TAf A BETE AR L ZEE) wovverrerrmrernnrmrmneenenenninnnne.

How to Understand Figurative Language

(AT FRARABTERETE ) oovveereerererrenesiee oo
Part Il Reading Tests( B3Il EAT)
Section A Skimming and Scanning ( BZ{3e 5#3E) «-oveee

Section B Multiple Choice and Short Answer Question

(BB S RIS wvveeereeerveereeereenniennee e

Section C Multiple Choice and Translation

(EIRITSBIIR)  -vvevvvevrrrrererrneeneeeeeeeiiinnnnaan,
Part IV Key to Reading Tests( S K R)

oooooooooooooooooooooooooooooooooooo

ooooooooooooooooooooooooooo

--------------------------




Part I Testing Skills( fZiX3E7)

How to Use the SKills for Reading Tests
( a0 {r] 43 A 159 i e TT )

REETETE N FH B8 175 A 5% U 2% W B S B AR e A1 T2, At & Xk
H W AE K ENE AYHEIE RSO B s A S B AR %, X
BXERE A MR, SR, B IEBCC R BUS X E . BB ARBES A E
B R AR HERERE R SO AR WA S B EE IA, HH A T IR
RS EA S T REIAS W TR BN ERF LR BT
REAR IR SCR TR ALR(E BRI, 2 AR RURE Bt T e s W A B et 2
T REFERF ETE = I T B 7 W B 05 R G B BRI T AR A BUR SR
T H— Rl B IE S S BRI

TR GRS R Y 3R 1R 7 X, B SR H K B Y, AT A B3R 20 A R AL
R AR B HSCR AE .

—. ZEAA FHE 5

TR R B IR BRI AR T, eI T .

1. B

FEBMEERMEEMXENEEMABE(HPLESR P LEHE) RETH
f , R P R WM R . — EHR = WEE AP ILPREEE . X%
B EEARYE CER FB AT A, B E B P the main idea, the theme, the topic
&1, % WA 7 A

The main idea of this passage is ...

— The best title for this passage is . ..

—— What is the main topic of this passage?

—— Which of the following best states the theme of the passage?

— This article is mainly about . ..

XEBRERE R RIVEROBE, PLBEREFRNVEREZENEER,
RRF2XHWEBE, B, BTEXERN PO, WA E EIEF— 1 BREN DL,
SRJE AT D394 i SCE B AP0 B

By g0 B — BB B E Y 2R (D BB AT AL TR e R ) o )
i (IE80)
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The government of India encourages married men and women to be sterilized so they
cannot have more children. In China, families can be punished for having more than one
child. Both of these countries have very large populations, and if the number of people
continues to increase, there will not be enough food, houses, or jobs for the people. As
a result, India, China, and other populous countries are following a family-planning poli-
cy — they want families to limit the number of children they will have. Teachers, doc-
tors, and social workers are explaining to the people why they should have fewer children
by using birth control methods such as contraception and sterilization. |

Which statement best expresses the main idea of the paragraph?

[ A] Some populous countries are following a family-planning policy.

[ B] India and China have very large populations.

[C] The government of India encourages sterilization.

[D] In China, families can be punished for having more than one child.

FEAETF AL TEEMYEBRAH R ESE BT  REMBTADZ
HJER, BE S T Bg i BREA) . “ENRE ., T BRI —g N O AR E 8 B RAER
BT — TR A TR FEZ G, SN R T 6 R MA s ks
WA ND " J5 . T B, C 1 D HECEHW KA A4, R ER S
Mo T A“—8 N OARS M BREERTTATBOR”, EFRA .0
B, Hit A RIEFIE SR,

2. WA

BT ERECERN OB, EEEFAI R R OB BN EEF AT, B
I, EREFEMAT WA BRI REZ—. BE, XEPSH BB L HH
M EEATRBESHOBEEXRNEENSE., Fo, %4585 Hi0ExERk
FIM A (who) B 44 (what ) | B [] (when ) | 3t £ (where ) |\ JE[H (why) DX J %
(how many or how much) %, Xt FX I, LHCE S B Hh R4 1 38 5t
(facts) FNEHTT (details) , B RAETEXEIRIRT MTEEN . HE R H T e
AR IR IR BT, AR B RS E M 48, R REAE HH A IR B 1R IR
AATREUE LRI 7 A

~——— What is the purpose of ... ?

—— Why is (was) it necessary for somebody (not) to do something?

—— Where is (was) ... located?

How did something happen?
SEEXISER R IS AL e, BV 4R F i, 3T R T 558
(1) SE&CEGH MR, iTESCRITE, A Y B 4%, i E
HEyRE G, BRI X A3 B 0 , AT 2 RT3 SCE B IR o
(2) BRI OHFRFSCH %, YA XF BN, TE T HESE, g
‘2.



MR R, TR PRE AT ’ ‘

(3) BESCHEL I (A SICRFHET ) 515 B A0 IR B BT B SR AR & 1 15 8
HE—AEIHTH R FXE RS RTATHA R ERER,

Bian : (RS0

Cattle have served humanity since prehistoric days as beasts of burderi and as sup-

pliers of leather, meat, and milk. Some of the earliest written records concern the sale
of cattle. These valuable animals are unusual in that they do not have front teeth in
their upper jaw. Instead they chew with their rear teeth and gums. Cows swallow their
food quickly and store it in the paunch or rumen, the first of the four compartments in
their stomachs (1A). Later the food passes into the second stomach(2) or reticulum
where it is rolled into little balls or cuds(2D). While resting, cow cough up these cuds
and chew them more thoroughly. This time the food passes into the third and then into
the fourth stomach, where digestion takes place. Bacteria(4) in cows’ stomachs aid
(4) in digesting the cellulose(4C) in stems of grass or hay.

Over one hundred million heads of cattle are raised in the United States. Dairy
cattle produce more than fifteen and one-half billion gallons of milk every year. Al-
though dairy cattle are bred primarily to produce milk(3D) , about half the beef used in
the United States comes form dairy breeds. This is because when dry (no longer produ-
cing milk) they fatten quickly and produce high quality beef.

(1) According to the passage, what is the rumen?

[ A] The first stomach compartment.

[B] The name of the upper jaw.

[ C] The stomach where digestion takes place.

[D] The name of the bacteria in the cow’s stomach.

(2) What is the primary use of the cow’s second stomach?

[ A] Food storage. [ C] Digestion.

[ B] The production of milk. [ D] The creation of the cuds.
(3) According to the passage, why do Americans breed dairy catile?

[ A] They breed dairy cattle to produce beef

[ B] They breed dairy cattle to provide income

[ C] They breed dairy cattle to provide leather

[ D] They breed dairy cattle to produce milk
(4) Which of the following is essential in the digestion of cellulose in the cow’s stomach?

[A] Cud [ B] Reticulum [ C] Bacteria - [D] Grass

FGIIA DA R, F R BRI

Step A: SBE CEIGHIREH , BH8 K151 0 o AR 19 R B 9 e 4 391 1 Pl 2 1)

. 3.




HWr ik

(1) &EHOR“H4Rumen?”

E(2) ZRIHODRFRE—B RN FEERR R A"

[ (3) K0 R At A mFR 427

(B (4) RIal G “ R EEETEA RN, 2 B—AT D77

Step B: 7 K6 H O Bk B 2R 3o 24123 “ rumen " 3XAMARY , L E T H
H£R, J5 T ) 38) 21 “ the first of the four compartments in their stomachs” , IFE & “ ru-
men” )RR, WIER T EZL ARG RIS LR, AREMTFEREE . 56
=D & R Hp ol : “second stomach”, “dairy cattle are bred” , “digesting the
cellulose” , FI'EZ T ) #H %45 B, : “rolled into balls or cuds”, “primarily to produce
milk,” “bacteria in cows’ stomachs aid”

Step C: 7EJFEICPR B RIE & 0] h.O RHEARERZE, EENSRE T mEAY
B— M EZE—MW IR, BRI HE (1) AL (2)DL(3)D.(4) C 43BN IEFIESR.

3. #IBE

TR PR R P R LR RL, th RR R K — 28, MR SR
FAER R RESCETRBEMNGE RS, SRS E TS 8, BRIES
WA, AWEENEERE I SFYHSE, WA B THEMCE, HELH . E
ZIMBSAEE R 37 B W AR .

It can be inferred from the passage that . . .

— The writer implies that . . .

—— The author suggests that . ..

—— Where would this paragraph most probably appear?

—— The purpose of this passage is . ..

— It can be concluded from the passage that . . .

TEMGHERTR , MR OBEM X BFEHE L QFHANTEE Y,
O RITERE B CEBMEEHIL AN 4 ; @F S Z B RR 5 A AT
B ZEXEPRENEL.

W ER AR ERECE PRE, LR FUCEFHE N, U
BRSSO RIE, A P R A —— SR, BAVRACHER
7, B S, 18 B O VS SR A

THEHLRARYE AN [ A7 BB A A, 70 43 g 0o S B o 235 B0 87 5 41 o SRR
W AEE R RN ; £ X0 V5 T B R HE T s 1 %R A BE B WS MO TR 4
LA 2P0 7 i AU A -

B 1. &%t SCEE AL BB 20 35 A HERT (138 30)

It is all very well to blame traffic jams, the cost of petrol and the quick pace of

modern life, but manners on the roads arebecoming horrible. Everybody knows that
. 4 -



the nicest men become monsters behind the wheel. It is all very well, again to have a
tiger in the tank, but to have one in the driver’s seat is another matter altogether. You
might tolerate the odd road-hog, the rude and inconsiderate driver, but nowadays the
well-mannered motorist is the exception to the rule. Perhaps the situation calls for a
“Be Kind to Other Driver” campaign, otherwise it may get completely out of hand.

The sentence “You might tolerate the odd road-hog-:-the rule.” implies that

[ A] our society is unjust towards well-mannered motorists

[ B] rude drivers can be met only occasionally

[ C] the well-mannered motorist cannot tolerate the road-hog

[ D] nowadays impolite drivers constitute the majority of motorists

A SRR AR AR B 8ME BB Rl |, MR M A SE . AT
AR AR BRI E IR F DL, (R4 KB LT N B4 19 F DL A0 358
AU ARYEA]F BT S 5 8., 25 A2 AT DAHERT, RIUEF 0 R AL & 35 10 R HLER fid
JESTIEAL , BT LAA] AR ER A A UE B B AT A AL SH . A TINA 53 g
EIRAR,B M CHFHRAR NS SRR . FiAERERED,

Bl 2. xf3CE F R AR E EE MR (B S0)

In the English educational system, students take three very important examina-
tions, the first is the eleven-plus, which is taken at the age of eleven or a little past. At
one time the ability or aptitude shown on the eleven-plus would have determined if a
child stayed in school. Now, however, all children continue in “comprehensive”
schools, all the eleven-plus determines which courses of study the child will follow. At
the age of fifteen or sixteen, the students are tested for Ordinary Level of the General
Certificate of Education. This examination covers a wide range of subjects; once
students have passed this exam, they are allowed to specialize, so that two-thirds or
more of their courses will be in physics, chemistry, classical languages, or whatever
they wish to study at great length. The final examination, at eighteen, covers only the
content of the special subjects. Even at the universities, students study, only in their
concentrated area and very few students ever venture outside that subject again. In a
real sense, the English boy or girl is a specialist from the age of fifteen.

(1) The purpose of this passage is to

[ A] show why most English students are “specialists”

[B] show the superiority of the English educational system

[ C] discuss the inequalities of the English educational system

[ D] describe the three tests that the English educational system is based on
(2) We may conclude from the passage that




[ A] the exam that is taken at the age of eighteen is easier than the other two ex-

[ B] failure on the eleven-plus exam excludes a student from further schooling

[ C] higher education is much narrower in scope in England than In America

[D] physics and chemistry are too most popular courses of study
(3) The passage suggests that .

[ A] most people in England are college educated

[ B] schooling is very closely controlled in England

[ C] the failure rate on eleven-plus exam is quite high

[D] England’s structured educational system had reduced the illiteracy rate in

that country dramatically

ERE (L) : AR REXEN B, W 2EENER, H4E—BET X
B ORE, R A ST CEN BN, XES MK EE@ 844/ XCER
WHNE EREHFHET , #ENESMEAEEE K, ETEANFKNA
BERRBTHYN . YMNEERNZAMEEREZUNBREBF AR T B
=R, A P EE I BR W X X R 1 B A ARSI, b4
X ERRNA=FHEHR, D HEHER,

R (2) : ABRAEWHEME, BRFEERBIXEARZB L1410, BH
A BEA MEERETRKRNGEE . TEATXEHERTBET , L750%F B 2 4k Yy BE 15
IMLGAERESR, EF ARG, HER AU A R AN SN SRR S X EPR
HERE SRR IR, X AR 4R/ MWE B, BE AL KT .

B W R AR SESGE = WAMER, BR R/ 6 ; C MASER P RE
B ;D TR NA SR SE tRF, O3 Y AL F BT TIRER S A
BB ERRAR” , AT A5 B P IO R H “ XTI R
FIAREPRFENWIT . HER B.C.D J5,HARA A BEWER.

AL (3) : AR I B SCESTHE, O HBIREEALTS M=K
i, F RN RIEMNTITERE, g%, B—HEHAEZEXHFEE
Gl B PR — R, BT KR — MR F A ERBF N —F I,
Rt B 2ME—RIE SR

EENEERRT USSR, T U~ S BE, TSR — 1A,
A LA T3, i LS| R W FR 055 . Bk, TE R, 5 A4 AR I S &
HY R AR E A 1 A R A, E S R EE R,

4. IFEXE

VB SO RN 8 75 A 7E 4 2 1R & PR b i 8 AR W SR H B XM RE . X
KA H WA T RA

——The word ‘ ... ’ means ...

.6



—— The line * ... ’ means...

—— The expression (word) ... ’ in the ... sentence refers to . ..
*In line ¢ ... ’, what does it refer to?

——Which of the following is the phrase * ... ’ inline‘ ... ’ closest in mean-
ing?

SR IX B 25 A O B R R O R TR SO IR S A R MR s 0
W38 Lo

A. P ETF 3R X

A LT CER RS R 5 MR SR 8 B A A

(1) ARERE SR BE iR o ilm «

a. A bird sanctuary is a place where birds can take refuge from hunters.

& w5 BT FIBT L sanctuary” B— N H1J7” , STEIRE AL Z B E Y
WIfEE . BILTITE H “ sanctuary” B “ BExfE AT o b

b. This man thought he was omniscient, that is, he felt he knew everything.

MJG—%]  he felt he knew everything’ A] DI& H . “omniscient” & “ J¢ flF S &1
ZHER,

(2) RIEERFBMF L, TR BPEE SR —3EVE— BEH B BRR
AP E R P A IE AR E RN E X, .

We can’t put up with the chairman’s arbitrariness. He often makes decisions with-
out consulting other members of the committee.

)5 “ arbitrariness” Jg 4 17) , {E A JE T B IR HR T RS OB B 1O 22 58 S 06T

(3) MIFHREBIEMIR L o HHHE, BHETM T 04 X5 BB
TR ERWRRMEE R, fln.

John’s father often gets angry at his laziness. But this time he flew into a rage

when he was told about John’ misbehaviors at school.

ARYE £ T SOHRAE B : RIS R0 L i o B A S R ROR,
YT BN LT FEEARL Y AT R (misbehaviors ) i, BT AR MERS H A A 36 %
77 (flew into a rage) ,

(4) MRIEZEBUFE I L, Filn:

His hobby is reading periodicals, such as Time Magazine, Newsweek, Reader’s
Digest, etc.

BIBEANHNIE “ periodical” X A1), AT /5 9 “such as ... " 4EHHA Wk
BE:i N I A S

(5) ARFEXH 5 R R IH S o B mT A A R SR p B R % He 33k B 3k
TR IR LR R Bl

Nowadays some young people are not thrifty, since they often waste money.




BT I ERERAER R LN AR K, XAFER LK
“StaL” B MR AR B R T HMRT R WA P RN ERERNLRE. welmE
JEFRE N AT E A B FEFT AN ERBER” , A4 EHH #“ are not thrifty” F
ERATL”T o

B. F| AR5 ] S

BETE BRI — R B ER A AR, BRR T RIIA R . BN AR BRERE. A
BUR) T A B AT AR 0 2 AR 8 A, T AS 20 B I el ) T M B . 1T 5 R
BHES B OE—ERIE X, BHIARR T 5HEBHE , St X, fiin.

(1)) patient (JEZIR : L0 HY)

PIRGSE : impatient (FEZER) : R0 H)
4R : impatiently (B : A0

(2) T state (@ﬂ%ﬁ,%%)

IUHTSR : restate (ZfiA) . ik ; EH )
PG4 : restatement (4577 : EHTPRIAR)

MUA_EBIF AT & AT S A T ROk AR CaiAE . SR TIE BT
TIRE , BEHE B LA 7E B S R IR o iln .

a. apathy ( =a +path +y)

WRHERTR a-" KRR BB 2R, GR Yy WBARR, FR%AH
Ao TR path” MFEAR & SR “B1E " (feeling) , L8] B 1R] SN MERS U , 7 K
“YLE” (without feeling) ,

Eifzap

antipathy( = anti + path +y)

BUR “anti-” BA“R”,“R3”, BARE 55 1K XA “ KRR (against
feeling)

b. Certain chemical from the rain softens the hard rock.

WNRFE “-en” RERE R, HG TR A MR Z B, AR 1 “soften” g
A, BEE R .

REPREERANEELEL A BMHEYCARAN T, ZENAR
20—l JE 8 B LR S, LA R AR BT BE % g R

5. fEEUR TEBESE,

IR F B K% A= B R B B R A S T 1R R BUR R TR R —
[ REAT BE S ERR AR . B WAERY .

— The author’s attitude toward ... can best be described as . . .

—— The tone of the writer is . . .
—— The author believes . ..

—— The mood of this passage is . ..
.8



According to the author, ...

YEE 1 F @S RGN ESCE FER H S NEE SEMIHMRA. Hi,
BT AW EE B SRR SR, BTN E R ERCE P E
RAEF RS E LR IRERE T

R IERIASAEE A, B EUFFEF 2B WA A RHEE,

SR AT AR IERUE B B A

I work from nine to five, six days a week. (ZF3Z)

WS FEA REFHIESERIE B 940 7, BB — N A FIT A5 4. 1
BHEAELERR A O AR R bRS E B A Y SRS fln.

Bill is nicer than George. (%)

XA A R W EAE R (BIWAR) » ERPHABSMNA R BT
FATERAR BT B B3O B BRI OAEE WA, T H AR % kA I 5
RERBIERMEX MR 5F%:

—— Which of the following statements is the author’s point of view?

——Which of the following opinions might the author agree with according to the

passage?

HAE T ORI R SRR .

Which of the following statements expresses the author’s point of view?

[A] Getting from Ecuador to New York requires enough money that it is really

luxury of the middle class.

[ B] But over the years, most of our relatives had come to New York.

[C] Our one try at making our status legal, two year’s ago, ended with disaster.

[ D] She was a lab technician, I work in a government office.

GRS LA, AT A WA : WERE RBIA AT ER
Z8, PR RAREXALZRE—MABE . HA=TEHE,

TEEAR THN B LSRG, B — % T R IMTA S WA SE,
—BEAER W SRR 30, %18 B E BT, A ARSI AR W
Ro fFETEHRAHEMUAR, AR ERT 4, HEL MRS AL
WARFEY B O GMSE. BEik, RAITEREIES WS, BF0% E T 308k
FERIIHT

Bian : (BGE30)

The traditional belief that a woman’s place is in the home and that a woman ought
not to go out to work can hardly be reasonably maintained in present conditions. It is
said that it is a woman’s task to care for the children, but families today tend to be
small and with a year or two between children. Thus a woman’s whole period of child
bearing may occur within five years. Furthermore, with compulsory education from the
.9.




l

age of five or six, her role as chief educator of her children soon ceases. Thus even if
we agree, that a woman should stay at home to look after her children before they are of
school age, for many women, this period would extend only for about ten years.
According to the author,
[ A] the right place for all women, married or not, is the home, not elsewhere
[B] all married women should have some occupation outside the home
[ C] a married woman should give first priority ({:5640) to her duties as a mother
[D] it is desirable for uneducated married women to stay at home and take care of

the family

ARIRIEE B Ao TEXE P, EERE HRFR A O xHa b g
o XEBE—MUL, B RALHAMEEIE, £ BT E T RAESSER
FEEM It is said that ... "SI AFINERE %, HHEEROR, XIEARFE|
FRINEFHFARMEENRE, TRAMNBEEEEZ WA EHHRAEEE
BERITAE T, AP but BT H T —RIHSE, XS HRA]
B EE LR TR . FEE SN T — S B S0 B 10 40 A o ] L A 4%t 3=
TAE: AR EGE/NEME, I BB A B I FR i 1) (L — = 48, X REia &
ERETRRMIOAREIEE, MEBRTELENY HEA/NE, BEER
BF N EREEERERBRIYE L. Bk, BMERNRZRLEZT L%
RIRLZAFFER P BB TS , B 52 b, X FUF S ALk, R B B F 1Bt e
LS. HEZE WRER AL EE TR BT HEG AT %
TAE, MAR—ETRHER S REX LA, RATAT LABHEE AR Bx, R
WEIBS T M 2 M TAE” o B2 B« SASIHL#R 2 E S T 5 i
TAE" HIEMER,

WESt , FERTE S E P AR A F B FSL A, B, BB SC i
(tone) , X FHEMHEEMSER TAEE, LENEA—BEIEE A%
ko BEONCREGETT RN AR KSR, R R R B, SRR
YRE L EE BRI THEFR R R AR IR, R d S X 34 1 K
THMEEITRE . UXENERARXEABH—AEER A, EPHAXEME

VAL RRAE T RAEE IO B ST U o SRR B 15 S R T M AT

PRYEBIEE, B SRA R AR M IS AR, 5 S T BRI AT T

T A — B SO PR SO AR (BLEET)

We Americans are wasteful people, not used to saving. The frontiers men began
this pattern, for nature’s resources were so plentiful that no one ever imagined a short-
age. Within a few years of the first Virginia settlement, for example, pioneers burned
down their houses when they were ready to move west. They wanted to have the nails

for future use. No one even gave a thought to the priceless hard woods that went up in
«10 -



smoke. As a people we destroy many things that other people save. I noticed this when
I was living in England. I received a letter from one of England’s largest banks. It was
enclosed in a used envelope that had been read dressed to me. Such a practice would
be unthinkable in the United States. American banks, even the smallest, always use
expensive stationery with the names of all twenty-eight vice-presidents listed on one side
of the page.

(1) The overall tone which emerges from the author’s view of America is

[ A] scolding and critical

[ B] proud and patriotic

[ C] sentimental and exaggerated

[ D] humorous and straightforward
(2) The author’s account of the English bank sending a letter in a used envelope cre-

ates a tone of .

[A] comedy [B] disgust [ C] approval [ D] wonderment
(3) In the last sentence, the author is being

[ A] poetic, but not very original

[B] factual to the point of being scientific

[ C] Sarcastic through the use of exaggeration

[D] inviting but unclear in his intended meaning
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A rapid means of long-distance transportation became a necessity for the United
States as setilement (Fr¥JEHL) spread ever farther westward (SC). The early trains
were impractical curiosities, and for a long time the railroad companies met with trou-
blesome mechanical problems. The most serious ones were the construction of rails able
to bear the load, and the development of a safe, effective stopping system (1A). Once
these were solved, the railroad was established as the best means of land transporta-
tion. By 1860 there were thousands of miles of railroads crossing the eastern mountain
ranges and reaching westward to the Mississippi. There were also regional southern and
western lines.

The high point in railroad building came with the construction of the first transcon-
tinental system. In 1862 Congress authorized two western railroad companies to build
lines from Nebraska westward and from California eastward to a meeting point, so as to
complete a transcontinental crossing linking the Atlantic seaboard with the Pacific. The
Government helped the railroads generously with money and land. Actual work on this
project began four years later(4D). The Central Pacific Company, starting from Califor-
nia, used Chinese labor, while the Union Pacific employed crews of Irish labourers.
The two groups worked at remarkable speed, each trying to cover a greater distance
than the other. In 1869 they met at a place called Promontory in what is now the state
of Utah. Many visitors came there for the great occasion. There were joyous celebra-
tions all over the country, with parades and the ringing of church bells to honor the
great achievement.

The railroad was very important in encouraging westward movement. (2A) It also
helped build up industry and farming by moving raw materials and by distributing prod-
ucts rapidly to distant markets (3B). In linking towns and people to one another it
helped unify the United States.

(1) The major problems with America’s railroad system in the mid 19th century lay in

[ A] poor quality rails and unreliable stopping systems
[ B] lack of financial support for development
[ C] limited railroad lines
[D] lack of a transcontinental railroad
(2) The building of the first transcontinental system

[ A] brought about a rapid growth of industry and farming in the west
‘12 .




